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ANSWER SHEET SECTION A

HELAIAN JAWAPAN BAHAGIAN A
	Question No.

No. Soalan
	Candidate’s Answer

Jawapan Calon
	Marks

Markah

	1
	
	Vacuum tube
	
	1

	2
	
	Encryption
	
	2

	3
	(i)
	Q. computer theft
	
	3

	
	(ii)
	R .copyright infrigement
	
	4

	4
	
	B. spyware
	
	5

	5
	
	X = Design
	
	6

	6
	(i)
	Mac OS X
	
	7

	
	(ii)
	DOS
	
	8

	
	(iii)
	Ubuntu
	
	9

	7
	(i)
	B. Secondary Storage Device
	
	10

	
	(ii)
	D.Proprietary Software
	
	11

	8
	(i)
	A (Hard disk)
	
	12

	
	(ii)
	C (RAM)
	
	13

	9
	
	D
	
	14

	10
	
	D
	
	15

	11
	
	C
	
	16

	12
	
	False
	
	17

	13
	
	Bus topology
	
	18

	14
	
	A. Hub
	
	19

	15
	
	Graphic
	
	20

	16
	(i)
	WYSIWYG web editor
	
	21

	
	(ii)
	Text-based web editor
	
	22

	17
	(i)
	P : Design phase
	
	23

	
	(ii)
	Q: Evaluation phase
	
	24

	18
	
	OR / NOT
	
	25

	
	
	NOT / OR
	
	26

	19
	
	Pi
	
	27

	20
	
	False
	
	28

	21
	
	Words
	
	29

	
	
	Codes
	
	30

	22
	
	Sequence Control Structure
	
	31

	23
	(i)
	Problem Analysis
	
	32

	
	(ii)
	Coding
	
	33

	24
	
	D. Information
	
	34

	25
	(i)
	Software/People
	
	35

	
	(ii)
	People /Software
	
	36


SECTION B

QUESTION 26 / SOALAN 26 = 4 Marks
a) i. Copyright infringement (1M)
ii. samson involves illegal copy or reproduction of copyrights material by the black market group (1M) or

Samson downloads movie, proprietary software, MP3, MP4 songs and sell to his friend illegally. (1M) or 
any related reason according to copyright infringement.

b) Samson’s computer got computer virus. (1M)
Install antivirus software (1M) or

Scan files for viruses before downloding (1M) or 

Any related answer.

QUESTION 27 / SOALAN 27= 4 Marks
i. Machine cycle (1M)
ii. Function of X: (max marks = 3)
· Fetching – the process of obtaining a program instruction or data item from memory (1M)

· Decoding – the process of translating a program instruction into signal that the computer can execute(1M)
· Executing – the process of implementing the instructions in a program(1M)
· Storing – the process of writing the result to the storage or memory(1M)
QUESTION 28 / SOALAN 28= 4 Marks
i. Three differences of H and I

	H- based
	I-based

	Can store high end multimedia elements such as video. 
	Limited in picture and low resolution video.

	Can be permanently stored and are not changeable
	Can be changed, damage or deleted by irresponsible individuals.

	Information on a multimedia can be quickly outdated
	Information for multimedia can be updated easily and is cheaper


# each pairs correct 1 mark given, if pairs wrong no marks will given.

ii. Publishing phase (1M)

QUESTION 29 / SOALAN 29= 4 Marks
i. X = assembler (1M), Y = compiler (1M)
Function X:

Translate an assembly code into the corresponding machine code that can be execute by the computer. (1M)

ii. Differences between interpreter and Y (1M)
	Interpreter
	Y (Compiler)

	Translate programming statement line by line and execute it immediately

Or

No object code is saved

Or

interpreter code run slower.
	Translate entire programming satement and execute it later

Or

Store machine language as object code on the disk

Or

Compiled code run faster


QUESTION 30 / SOALAN 30= 4 Marks
i. Primary key : studentID (1M)
Function : to ensure that no two records in database contain the samevalue for that field. (1M)

ii. Second telephone number (1M), email address (1M) 
or others that related
SECTION C
QUESTION 31 / SOALAN 31

a) i. COCO Bank Berhad = Bus Topology (1M), Setia Bank Berhad = Star Topology (1M)
ii.differentiate of topology: (2M) 

	
	Bus Topology
	Star Topology

	structure
	Consist of a single central cable(backbone) and all computers and other devices connect to it.
	Consist of a central host which acts as the central and all nodes connect to the host.


# any related answer about this two topology.
b) Extranet. (1M)
Extranet is a private network that connects more than one organization such as COCO Bank Berhad in Selangor and Setia Bank Berhad at Kedah. (1M)

 It is allow suppliers, customer and bussniess partner access to their networks. (1M)
QUESTION 32 / SOALAN 32

a. Storyboard







     Club Info storyboard
      



b. Non-linear interactivity multimedia.(1M)

Differentiate of Linear inteactivity and non-linear interactivity: (2M)

	Linear interactivity multimedia
	Non-linear interactivity multimedia

	Does not allow the user to have control of the sequence and progress of multimedia content.
	Lets the user control of the sequence and progress of multimedia content.

	Not interactive
	Interactive 


QUESTION 33 / SOALAN 33

a) Input – name, class and IC number (1M)
Output – Curriculum Unit (1M)
Process – verifies the students data and all fields are filled (1M)
b) Flow chart: 
YES





NO





Display Curriculum Unit





Display error message





All fields filled





END





Request Name, Class, IC number





BEGIN





BEGIN/END (1m)


Correct Decision if  and description (1m)


Correct Input/Output shape and description (1m)


All arrow must reach the shapes (1m)





Main menu storyboard
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MAIN MENU








CLUB INFO





CLUB ACHIEVEMENT





CLUB GALLERY





END





END





HOME





CLUB MEMBERS





ORGANIZATION CHART
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1 empty storyboard – 1M�or


1 storyboard( 1M) with related content  (1M)��Total : 2M





1 empty storyboard – 1M�or


1 storyboard( 1M) with related content  (1M)��Total : 2M
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